4320

: : :

BITRAHIRGL

: : :

SR567 - SAFESTAR 431 TRI-WAVE BEAM

T

4240
B A - i
SR568 - SAFESTAR 431 TOP RAIL
115
mn
18 %I N
(=}
| o
M16
L M16 _
M16x30 PANHEAD
85 SRISL- WASHER QP'-ATE BOLT GRADE 8.8 M16x45 PANHEAD
X40x SR207 BOLT GRADE 8.8
SR201
18
0 @ [o]
¢ 9
SR155 - WASHER PLATE 218 18
85x35x4 180
M16
M16 M16
WASHER 18¢ HOLE WASHER 18¢ HOLE M16x45 HEXHEAD
X 38 - SR209 - SR300 BOLT GRADE 10.9
SR556
PLATE DIMENSION PLATE DIMENSION
700mm MAX 700mm MAX
o L1 L4
? APPROACH CAN BE FIXED WITH DEPARTURE
OFFSET POST CAST IN ANCHORS, DRILL OFFSET POST
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS
AR . *BASEPLATE DRILL . o\
sl %1 ) & TAPPED FOR )
e o o o LIFTING EYE o o ol oY

PLATE DIMENSION
700 MAX

4 No. THREADED
M20 HOLES

PLATE DIMENSION

700 MAX

80 80 80 80
300
o o o o
3 3 N 3
wn
~
o~
0 0 0 0 200 |
0
0 0 0 0
o
0 0 0 2 0 0
=
2
% [=
o ~ 0
o
R
o
o
&
SR571 - C140 POST SR563 - SURFACE
1750mm MOUNTED C140 POST
SR572 - C140 POST
2100mm
SR573 - C140 POST 90 INT.
2300mm 90 INT.
90 INT. £
90 INT. = -
SR574 - C140 POST E = s
2500mm E =] ?
= n =
= <
n =
B
o
o 2 3
2 < ©
ru
SR100 - A21 SR546 - C140 SR547 - C140 SR548 - C140  SR549 - C140
REINFORCING POST SOCKET POST SOCKET =~ POST SOCKET ~ POST SOCKET
RING x 450 x 500 x 550 x 600

80

SR570 - TOP
RAIL BEAM
SPACER

160

323

SR569 -
TRI-WAVE BEAM
SPACER

01 (15/07/24] DRAWING UPDATED H.B

00 ]01/02/23 DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

SAFESTAR 431
H4b W3 A

H4b W3A VEHICLE RESTRAINT
SYSTEM COMPONENTS SCHEMATIC

B sAaFer0oAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER:

MR-H4bW3-GA-00

REVN:

01




GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH
THE CLOSED FACE OF THE
CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

. FOR OPTIONS ON POST

' FOUNDATIONS REFER TO DRAWING
I NUMBERS:

MR-GA-H4bW3-41/42/43/44

WHEN TYING INTO ADJACENT VRS
ONLY ONE WORKING WIDTH
DIFFERENCE IS PERMITTED.

4. WHERE A KERB IS PRESENT THE

MAXIMUM KERB HEIGHT IS 125mm.

5. FOR MINIMUM LENGTH OF FULL

HEIGHT VRS REFER TO SAFEROAD

MEGARAIL MANUAL.

SR570 SR568
} pu d } } } pu
: 4 L++ | + + . — 4 — + L++ | + .
_—— POST SR567 SR569
- | | | | - |
1 1 1 1 1 1 1
= 1>
= | =
> 1 >
|
1000 1000 1000 1000 1000 1000
NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL
POST
CONNECTION
TYPE 1
- = e 1L == = = . b 1= = ==
320
BEAM TRAFFIC FLOW ——
LAP
MIN. 1000
W3 WORKING WIDTH
385
IR
[
TABLE 'A' - SYSTEM IDENTIFICATION SCHEDULE TABLE 'B' - SCHEDULE OF POST PART o
NUMBERS AND LENGTHS ]
245
PART UANTITY'S I
NUMBER DESCRIPTION Q PER 4M PART NUMBER POST LENGTH I
[
SR567 | TRI-WAVE BEAM 1 SR571 1750 | _t j‘ i
SRS68 | TOP RAIL 1 SR572 2100 T ]
SR573 2300 o
SEE nen E n
e | POST "C" 140 3
TABLE 'B SR574 2500 -H- «
SR569 | TRI-WAVE BEAM SPACER BRACKET 3 SURFACE MOUNTED D
SR563 boST
SR570 | TOP RAIL SPACER BRACKET 3 ‘Fﬂ‘
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING L 01 [15/07/24]  DRAWING UPDATED HB
NUMBER MR-H4bW3-GA-02 00 |01/02/23  DRAWING CREATED H.B

SAFESTAR 431
H4b W3 A

H4b W3 VEHICLE RESTRAINT SYSTEM
ASSEMBLY AND SETTING OUT
ARRANGEMENT

B sAaFeroAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

REVN

DATE

DETAILS

INITIAL

DRAWING NUMBER:

MR-H4bW3-GA-01

REVn:

01




TOP RAIL LAP
CONNECTION

TOP RAIL BRACKET TO

TOP RAIL BRACKET TO RAIL

POST CONNECTION CONNECTION
(1No. CONNECTION P/RAIL END)
QUANTITIES PER RAIL REQUIRED QUANTITIES PER POST REQUIRED QUANTITIES PER POST REQUIRED
PART NUMBER DESCRIPTION QUANTITY PART NUMBER DESCRIPTION QUANTITY PART NUMBER DESCRIPTION QUANTITY
SR201 | M16x45 PANHEAD GRADE 8.8 C/W NUT 5 SRS56 | M16x45 HEXHEAD GRADE 10.9 C/W NUT 1 SR201 | M16x45 PANHEAD GRADE 8.8 C/W NUT 2
SR300 | M16 WASHER 1879 HOLE X 300/d 10 SRIS5 | M16x85x35%4 WASHER PLATE 2 SR151 | M16x115x40x6 WASHER PLATE 2
SR300 | M16 WASHER 18@ HOLE X 300/d 2
SEE MR-H4bW3-GA-03
FOR BEAM LAP DETAILS
(2o~ |1 | N
\F\ﬁ‘ L 01 [15/07/24f  DRAWING UPDATED H.B
Teb Tr—] 00 |01/02/23  DRAWING CREATED H.B
} } } } REVR DATE DETAILS INITIAL
A5 -4
bl 1
| |
| B SAFESTAR 431
| |
| | | |
L L Hab W3 A
| | | |
J‘_,\I_L [ H4bW3 VEHICLE RESTRAINT SYSTEM
TRI-WAVE BEAM LAP X BOLTING ARRANGEMENTS
CONNECTION TRI-WAVE BEAM SPACER TRI-WAVE BEAM SPACER
(1No. CONNECTION P/BEAM END) TO POST CONNECTION TO BEAM CONNECTION
QUANTITIES PER BEAM REQUIRED QUANTITIES PER POST REQUIRED QUANTITIES PER POST REQUIRED S H F E R D H D
PART
DESCRIPTION UANTITY
NUMBER Q PART NUMBER DESCRIPTION QUANTITY PART NUMBER DESCRIPTION QUANTITY CONCORD HOUSE,
SR207 miﬁo PANHEAD GRADE 8.8¢/w | 4, SRS56 | M16x45 HEXHEAD GRADE 10.9 C/W NUT 2 SR201 | M16x45 PANHEAD GRADE 8.8 C/W NUT 2 BESSEMER WAY, SCUNTHORPE,
5005 | 16 WASHER 189 HOLE X 38070 > SR209 | M16 WASHER 189 HOLE X 380/d 2 SR151 | M16x115x40x6 WASHER PLATE 2 NORTH LiNgg‘y‘}S;‘égi gI;D N15 8XE
SR300 | M16 WASHER 180 HOLE X 300/d 2 FOR TECHNICAL ASSISTANCE CONTACT

john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-H4bW3-GA-02 | 01




T

SAFESTAR 431
C140 POST
| SRs69

——————FF H]

-] -] [==]
o o
[==]
[==)
——
(-] (-]
[ [
RIGHT HAND BEAM
LEFT HAND BEAM TRAFFIC FLOW

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

_¢_

140

151

Ead
|

70 250

PLAN VIEW ON RAIL END

** NOTE: TOP RAIL IS TAPERED AT DEPARTURE END.
SEE ABOVE DETAIL.

4 ¥ ==
1

- 4 4 _+1 RIGHT HAND TOP RAIL
— ('SMALL' END TOWARDS APPROACH)

LEFT HAND TOP RAIL PLAN VIEW ON RAIL LAP

LAPPED OVER RIGHT HAND ** RAIL REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
(LARGE' END TOWARDS DEPARTURE) INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

GENERAL NOTES:
1. POSTS ARE TO BE INSTALLED WITH THE

CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

01 |15/07/24 DRAWING UPDATED H.B
00 |01/02/23 DRAWING CREATED H.B
REVN DATE DETAILS INITIAL

SAFESTAR 431
H4b W3 A

H4bW3 VEHICLE RESTRAINT SYSTEM.
BEAM LAPPING DETAIL

B sAaFer0oAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-H4bW3-GA-03 | 01




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION AS PER THIS DRAWING.
ALTHOUGH IT WOULD BE BENEFICIAL TO USE
THE HOLES ALREADY IN THE BEAM IT IS
ACCEPTABLE TO DRILL NEW HOLES IN THE
DESIRED POSITIONS AND TREAT WITH ZINC
RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING
MR-H4bW3-GA-00 CAN BE USED.

3. IF SITE CONDITIONS DO NOT ALLOW REGULAR
DISTANCE BETWEEN THE POSTS, POSTS CAN
BE SHIFTED BY 300MM. ALTERED POST
CENTRES MUST NOT BE WITHIN A BEAM LAP
OR TOP RAIL LAP BAY

4. IF IT IS NOTE POSSIBLE TO USE THE
SOLUTION DESCRIBED IN NOTE 3, THE POST
SPACING CAN BE REDUCED WITH AN
ADDITIONAL POST. THE MINIMUM DISTANCE
OF 500MM BETWEEN POSTS MUST BE
OBSERVED.

5. IF IT IS NOT POSSIBLE TO USE THE SOLUTION
DESCRIBED IN NOTE 4, IN EXCEPTIONAL
CASES, THE POST DISTANCE CAN BE
EXTENDED TO 2M.

01 |15/07/24 DRAWING UPDATED H.B
00 (01/02/23 DRAWING CREATED H.B
REVN DATE DETAILS INITIAL

SAFESTAR 431
H4b W3 A

H4bW3 VEHICLE RESTRAINT SYSTEM
DEVIATION SETTING OUT
ARRANGEMENT

T —H [F+] i : I i EZIM ¢ - : I
! ! ! ! — ! !
M H i i B -+ i i
. OBSTRUCTION
1000 1300 700 1000
RILL BEAM TO SUIT RILL BEAM TO SUIT
. . . . . . . /TEOST LOCATION /Tgosr LOCATION . . . . .
— [ — 1 [3+] ! H Bl [ B 3+ B H
! ! ! ! -l ! !
£ o 5 H—F T £ o
|_OBSTRUCTION
V2222222
1000 500 MIN. 500 MIN. 1000
— T —H [F+] i : I —H EI ¢ - : I
| | | | = | |
=) =) ) ) - ) =)
‘ OBSTRUCTION ‘
7
1000 2000 MAX. 1000
N L EZINN ¢ I : I T EZINN ¢ I : I
| |
T e {1
} OBSTRUCTION \
1000 1000 1000

B sAaFer0AD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-H4bW3-GA-40 | 01




4240 4240 4240
SAFESTAR 431 TOP RAIL SAFESTAR 431 TOP RAIL SAFESTAR 431 TOP RAIL
TOP RAIL SPACER ~%
/SRS70)
4 o W W 00 W . W 0 M D[ H 000 W 0 W 000 K 1
BEAM SPACER:
——
(SR569)
>;I’RI-WAVE BEAM
SR567)
Z|Z
g|=
= \BRIVEN POST
S SEE TABLE)
o\
L L - L L - L L - L
|
SYSTEM SECTION A-A B SYSTEM
CONTINUATION SCALE: 1:40 CONTINUATION
1000 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000
NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL
320 320 320
LAP LAP LAP
4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM
(4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH)
i PLAN VIEW ON SAFLINE 431 ]
A SCALE: 1:40 A
TRAFFIC FLOW
TF _rt fﬁ
—
w
(I =
I SAFESTAR 431
t a
I I 245 5
N 3 H4b W3 A
(I ©
o § ('%'" H4bW3 VEHICLE RESTRAINT SYSTEM
3 |8 DRIVEN POST GENERAL DETAILS
[ o %
T g |3

GENERAL NOTES: GROUND L ;

1. POSTS ARE TO BE INSTALLED WITH THE CLOSED LEVEL I ] H F H
FACE OF THE CHANNEL TOWARDS THE JEY & ) S E E D
ON-COMING TRAFFIC. .

2. WHEN TYING INTO ADJACENT VRS ONLY ONE DRIVEN POST LENGTHS o — CONCORD HOUSE,
WORKING WIDTH DIFFERENCE IS PERMITTED. SECTION B-B }}‘H‘u 3 BESSEMER WAY, SCUNTHORPE,

3. WHERE A KERB IS PRESENT THE MAXIMUM KERB PART NUMBER POST LENGTH GROUND celE 130 bl 5 NORTH LINCOLNSHIRE, DN15 8XE
HEIGHT IS 125mm. PENETRATION e uon == t: 01724 289119

4, FOR MINIMUM LENGTH OF FULL HEIGHT VRS SR572 2100 800 }} I u = @ FOR TECHNICAL ASSISTANCE CONTACT
REFER TO SAFEROAD MEGARAIL MANUAL. SR573 2300 1000 ol i o john.cudlipp@saferoad.co.uk

5. DRIVEN POSTS TO BE PROVIDED AT LENGTH SR574 2500 1200 il 2 01 |15/07/24]  DRAWING UPDATED H.B  [DrAWING NOVBER: REVn:
THAT SUITS CONTRACT REQUIREMENTS 0ol I

ol S 00 (23/03/23 DRAWING CREATED H.B
L_u 103/ MR-H4bW3-GA-41 01

REVn

DATE

DETAILS

INITIAL




4240 4240 4240
SAFESTAR 431 TOP RAIL SAFESTAR 431 TOP RAIL SAFESTAR 431 TOP RAIL
TOP RAIL SPACER -8
/—{SR570)
H ., . B ! ] M H ., . B — R S I H . . B — R 1
BEAM SPACER
I I
SR569
| | | | | il N [ | | Hne
= i s
C140 POST xI'RI—WAVE BEAM
|| | | | | (saresTAR431) | | SR567) a | o o -
I I I I I I
| | | | YRNEN |
FOUNDATION
4] a H 2 IH u H stz secrion sy [ u H
0 0 0 0 0 0 0 0 0 0
|
SECTION A-A B
SYSTEM SCALE: 1:40 SYSTEM
CONTINUATION CONTINUATION
1000 1000 1000 1000 1000 1000 1000 1000 1000 1000 1000 1000
NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL
320 320 320
LAP LAP LAP
4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM
(4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH)
PLAN VIEW ON SAFLINE 431
a SCALE: 1:40 A
TRAFFIC FLOW
TF
385
SAFESTAR 431
1 =
i H4b W3 A
11| 245 5
} } | g H4bW3 VEHICLE RESTRAINT SYSTEM
Il glg DRIVEN FOUNDATION GENERAL
1 "3 DETAILS
=
M '** % ‘;-'3
GENERAL NOTES: SN b
: > =
1. POSTS ARE TO BE INSTALLED WITH THE CLOSED BiE | 2 SAFEROA q
FACE OF THE CHANNEL TOWARDS THE o
ON-COMING TRAFFIC. £ Lil— CONCORD HOUSE
= z K !
2. WHEN TYING INTO ADJACENT VRS ONLY ONE LIMITS ON FOUNDATION SECTIONB-B &|_ £ 3= BESSEMER WAY, SCUNTHORPE,
WORKING WIDTH DIFFERENCE IS PERMITTED. (WITH GROUND LEVEL AS OMM DATUM) saez 5|6 F =0 NORTH LINCOLNSHIRE, DN15 SXE
— — !
3. WHERE A KERB IS PRESENT THE MAXIMUM KERB g £3 - S t: 01724 289119
HEIGHT IS 125mm. #BOVE GROUND LEVEL: +50MM g|g¢ FOR TECHNICAL ASSISTANCE CONTACT
4. FOR MINIMUM LENGTH OF FULL HEIGHT VRS BELOW GROUND LEVEL: -100MM S|EG iohn.cudlipp@saferoad.co.uk
REFER TO SAFEROAD MEGARAIL MANUAL. s|a 2 John.cudiipp L0
? E 01 |15/07/24 DRAWING UPDATED H.B [ brAWING NUMBER: REVN:
5. DRIVEN PFOUNDATIONS TO BE PROVIDED AT % 3
LENGTH THAT SUITS CONTRACT REQUIREMENTS 00 |23/03/23  DRAWING CREATED H.B _ A
REVn DATE DETAILS INITIAL M R H4bW3 GA 42 0 1




4240 4240 4240
SAFESTAR 431 TOP RAIL SAFESTAR 431 TOP RAIL SAFESTAR 431 TOP RAIL
TOP RAIL SPACER %
/SR570)
H . . H — B T i . . B ! TN H . . B —H 1
BEAM SPACER:
—— ——
SR569 \
| | L | | | 1 N | | ais
é é = 1 = 1 é 1 = 1 = hg 1 1 = é =
== =ios =
C140 POST ERI-WAVE BEAM
SR567
- - 2 a SAFESTAR 431) | 2 ) 2 2 2 2 2
| IE; | E }H Y I | 1E :w | IE | 1E | 1E }H W
| | | | | | | | | | |
| I | 1k I | i | | 1k | | I | | i | L I | | I
| | by | by | i | | | ;1 .y | | | g | 3 | | |
CONCRETE
SECTION A-A FOUNDATION -
SCALE: 1:40 SEE SECTION B-B)
SYSTEM SYSTEM
CONTINUATION CONTINUATION
1000 1000 1000 1000 1000 1000 1000 1000 1000 1000 1000 1000
NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL NOMINAL
320 320 320
LAP LAP LAP
4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM
(4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH)
lL PLAN VIEW ON SAFLINE 431 Ll
TRAFFIC FLOW SCALE: 1:40
TF 385
T .
B g SAFESTAR 431
[ |
[ o
e H4b W3 A
[ o
I oS H4bW3 VEHICLE RESTRAINT SYSTEM
3|3 CONCRETE FOUNDATION GENERAL
GENERAL NOTES: 4 2|8
< DETAILS
1. POSTS ARE TO BE INSTALLED WITH THE CLOSED I £
FACE OF THE CHANNEL TOWARDS THE _4; $ 2 g
ON-COMING TRAFFIC. GROUND i @ ¥
= [
2. FOR MINIMUM LENGTH OF FULL HEIGHT VRS LEVEL =8 | ! & SAFEROA q
REFER TO SAFEROAD MEGARAIL MANUAL. SOCKET LENGTHS SIS I &
3. WHERE A KERB IS PRESENT, THE MAXIMUM KERB l I CONCORD HOUSE
HEIGHT IS 125mm . '
4 CONCRETE 10 BE PESCRIBED MIX ST5 OR PART NUMBER SOCKET LENGTH SOCKET SIZE f 1 K Je BESSEMER WAY, SCUNTHORPE,
. k: N
C20/C25. STRONGER GRADES OF STRUCTURAL SRS46 450 145x90 (INTERNAL) 2 Jt B g|o NORTH LINCOLNSHIRE, DN15 8XE
CONCRETE ARE ACCEPTABLE Y sl t: 01724 289119
5. SOCKETS MAY BE INSTALLED FLUSH WITH THE SR347 500 145x90 (INTERNAL) Y EG 83 FOR TECHNICAL ASSISTANCE CONTACT
TOP OF CONCRETE, HOWEVER THE PROTRUSION SR548 550 145x90 (INTERNAL) A ~ john.cudlipp@saferoad.co.uk
SHOULD NOT EXCEED 100mm. SR549 600 145x90 (INTERNAL) 01 |15/07/24 DRAWING UPDATED H.B | braWING NUMBER: REVn:
6. MINIMUM SOCKET AND OR POST EMBEDMENT 1S SECTION B-B
350MM SCALE: 1:30 00 |23/03/23 DRAWING CREATED H.B M R'H4bW3'GA'43 O 1

REVn

DATE

DETAILS

INITIAL




4240

4240

4240

SAFESTAR 431 TOP RAIL

TOP RAIL SPACER

SAFESTAR 431 TOP RAIL

SAFESTAR 431 TOP RAIL

B
- /- (SR570)
y B r 1N I . . el B y 0 N 1
BEAM SPACER
T (SR569) T

xl’RI-WAVE BEAM

SR567)

- SURFACE MOUNTED
C;;&:?ST SECTION A-A PUSHED IN CRADL RILL & FIX ANCHOR OR
SCALE: 1:40 ANCHOR PUSHED IN SSR-120-VDI-30x225xM20
SYSTEM ANCHOR SYSTEM
CONTINUATION CONTINUATION
1000 1000 \ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 ‘ 1000 \ 1000 ‘ 1000 ‘ 1000
NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL ‘ NOMINAL
o[ - = [k = [oldp o M [olelg] ~ oo - ~ [k -~ [okdy e H (oo - oo - = [ody = [k [+
320 320 320
LAP LAP LAP
4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM 4320 - SAFESTAR 431 BEAM
(4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH) (4000 EFFECTIVE LENGTH)
lL Ll
TRAFFIC FLOW PLAN VIEV\SICSS 1S:QFLINE 431
TF
385
300
i SAFESTAR 431
J y |
B £ ] H4b W3 A
[ Y |
(I o n
245 5 N
] E Rl oMo %22 | H4bW3 VEHICLE RESTRAINT SYSTEM
} } & T B SURFACE MOUNTED POST GENERAL
I g|e @\ | DETAILS
i 213 8
= 3 20
I :
_ g |8 SAFEROAD
@ jm} SECTION C-C
GENERAL NOTES: _ B GROUND H ; SCALE: 1:20
1. POSTS ARE TO BE INSTALLED WITH THE CLOSED iV iV LEVEL ch il < Q CONCORD HOUSE,
?ﬁi\i FOI(F: THE CHANNEL TOWARDS THE ON-COMING } } } } T | BESSEMER WAY, SCUNTHORPE,
' e e el NORTH LINCOLNSHIRE, DN15 8XE
2 ?%RSX;E%% HEE’\(';L:I?FMTNLG ATEIGHT VRS REFER E_Y RILL & FIX OR PUSHED IN (275) 5|z % t: 01724 289119
' PUSHED IN CRADLI (56) (56) SSR-120-VDI-30x225xM20 QE= FOR TECHNICAL ASSISTANCE CONTACT

3. GROUT TO BE 10 MIN. / 30 MAX. BED THICKNESS — == — == ANCHOR " &2 g . ;

4. ANCHORAGE TO BE EITHER PUSHED IN CRADLE ANCHOR | @75) 275) SEchES ':13? ° - john.cudlipp@saferoad.co.uk
ANCHOR OR DRILL & FIX/PUSHED IN HOLDING DOWN DETAILS S 01 |15/07/24 DRAWING UPDATED H.B | DRAWING NUMBER: REVN:
SSR-120-VDI-30x225xM20 ANCHORS SCALE: 1:30 00 |23/03/23 DRAWING CREATED H.B M R—H4bW3—GA—44 01

REVn DATE DETAILS INITIAL




	MR-H4bW3-GA-00 Rev 01.pdf
	MR-H4bW3-GA-01 Rev 01.pdf
	MR-H4bW3-GA-02 Rev 01.pdf
	MR-H4bW3-GA-03 Rev 01.pdf
	MR-H4bW3-GA-40 Rev 01.pdf
	MR-H4bW3-GA-41 Rev 01.pdf
	MR-H4bW3-GA-42 Rev 01.pdf
	MR-H4bW3-GA-43 Rev 01.pdf
	MR-H4bW3-GA-44 Rev 01.pdf

